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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 508 4 1.8 6 66.5 99.8
2 465 0.3 0.6 3 10.6 91.4
3 500 1.1 1.1 3 35.2 98.2
4 458 3 2.6 8 37.7 90
5 490 2.1 1.4 6 35.3 96.3
6 471 2.4 2.3 8 29.8 92.5
7 486 2.4 1.5 6 39.7 95.5
8 475 2.2 1.7 8 27.6 93.3
9 415 2.1 1.9 6 34.2 81.5
10 487 2.2 1.5 6 36.9 95.7
11 504 2.2 1.8 6 36.5 99
12 469 1.2 1.5 6 20.3 92.1
13 123 2 1.8 10 19.8 24.2
14 127 3 2.3 8 37.6 24.9
15 337 0.7 1.2 4 18.4 66.2
16 336 1.6 1 6 27.3 66
17 343 2.9 1.7 8 35.9 67.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Award 1 mark per advantage/ disadvantage up to a maximum of 6 (need at least 2 of each
for max)

Indicative content

Advantages

Cost efficiency- elimination of investment in standalone software/servers/ save on
licensing costs

Convenience and continuous availability — services are available wherever the end user is
located/server uptime better

Backup and Recovery — process is simplified as not on a physical local device
Environmentally friendly — takes fewer resources to compute hence saving energy and
local machine not on all the time

Resiliency and Redundancy — built on robust architecture and automatic fall-over between
hardware platforms

Scalability and Performance — scalability is built in to cloud deployments and customer
only pays for what they use instead of having to buy a lot of extra not being used
Increased Storage Capacity — Can store much more data compared to a PC

Device Diversity and Location Independence — can access the data at a variety of devices
and from a lot of different locations

Smaller learning curve

Collaborative working

Disadvantages

Security and Privacy — could argue that a company is giving away private data that might
be sensitive and confidential

Dependency — hard to migrate from one provider to another

Technical difficulties and Downtime — If something goes wrong it is out of the user’s control
Increased vulnerability — exposed on the public internet

Increasing cost of storage

More complex systems administration of data and services

Need for a fast reliable broadband

Online versions of software may not have the same functionality as the full client.
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A good answer, mentions hardware cost saving, access from anywhere on any device and easier
backup as advantages. Cost is explained as a disadvantage and security risk.
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A very good answer, advantages for cost saving due to licensing costs, ease of increasing storage and
easier backup.

For disadvantages they have discussed some potential cost problems, security on the internet and
the possible problem with communication networks.
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Very general answer and only one point worth awarding a mark about being unusable if the network
is down.






Cloud Computing is becoming increasingly important in the IT world. Discuss the
advantages and disadvantages of using Cloud Computing Services to provide
applications and develop platforms. [6]
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Award a maximum of two marks per factor x3

Three factors and any relevant point for each
Some examples are shown

Economic and technological factors

In developing countries we can all guess that money isn’t something everyone has, and
every on that does have it, doesn’t have a lot of it, how does this effect the gap? Well these
people simply do not have the money to buy the equipment needed to bridge the gap, and
in most cases, countries that are in poverty are more worried about the basic things of life
such as clean water, teaching hygiene and putting food on the table, than they are about
getting a computer so that they can access the internet!

Social factors —fear of technology, lack of motivation, lack of training

It has been stereotyped that girls are all about make up and doing their hair and boys are all
about their gadgets.

Because of this stereotype the female sex is not encouraged enough to actually go forward
and use the technology that is so readily available, they feel as if it's not meant for them
and so in turn don’t have the confidence to use this. It seems as if industries seem to aim
their products at the male sex, using advertisements that appeal to them etc. and the
females don't feel the need to catch onto the technology needed.

Age can be treated in the same way.

Geographic factors (location)
Access to the world of information is also dependent on where you live.

In the UK, some areas have access to broadband connections - some do not. In rural areas
there may be fewer schemes for community access to the Internet (libraries, cybercafes
etc).

Geographical location may influence a person's wealth or education. Wealthier families are
more likely to have Internet access at home.

There may be more ICT-related job opportunities in large cities...so the need to use digital
technology will be greater.

Internet access also depends on which country you live in. Some countries have better
communications links than others. There may be poor links in countries that have large
areas with few people (eg deserts, mountains)

The governments of some countries have schemes for education that involve providing
hardware and Internet access for educational institutions as well as for communities.
Schools, colleges and libraries may be connected to the Internet. The governments of
poorer countries will not be able to do this.

3x2
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The candidate does not mention the factors but does give a relevant point for the economic and
geographic factors twice.
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Two factors, geographic and social, mentioned with a sensible point for each. The third point is
really another attempt at covering the social factor.
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Not really an answer about the digital divide but big companies versus small which is not the
guestion.






Describe three factors which contribute to the digital divide. [3 X% 2]
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Award 1 mark for characteristic and 1 mark for extension x3

Volume

Characteristic

Extension

Big data implies enormous volumes of
data(1) how much data there is

Data is generated by machines,
devices and networks

Data is generated by human
interaction on many systems like
social media

Variety

Characteristic

Extension

There are many sources and types of data

both structured and unstructured.

Data comes in many forms e.g. word
processed documents, PDFs,
spreadsheets databases, emails,
photos, videos, audio, monitoring
devices, , etc.

This variety of unstructured data
creates problems for storage, mining

and analysing data

Validity

Characteristic

Extension

Correctness of the data for use.

Initial data is likely to be very dirty,
more important to see if there are
links/relationships

Data then needs to be validated as it
will be applied to an operational
condition

Big data sources need to be valid if
they’re going to be used for future
research.

3x2
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The candidate explains the three given characteristics but gives no real extension to the description
of volume while it does for variety and validity.
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An excellent answer, giving the three characteristics with good extensions.
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Explains the three characteristics but does not give any extensions with just a little more, it could

have been a very good answer.
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Big data can be described in terms of the following three characteristics:

Volume
Variety
Validity

Describe what is meant by these three characteristics in relation to data processing.
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